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SECTION 1: (General overview of Learner Performance in the question paper as a 
whole) 
 

               
 
After the successful 2019 results, the 2020 cohort, with all its challenges, did not 
maintain the upward trajectory of Geography in the province. It seems that the 
pandemic had a major influence on teaching and learning as the 2020 results show a 
downward trend. This is clearly indicated by the totals taken from the levels entered. 
With all the efforts of the province, districts, and educators, it is disappointing to note 
that the candidates did not live up to those expectations in Geography. 
 
The totals indicate that Question 3 was the most popular question and also the question 
for which the highest averages mark were achieved. Question 4 was the least 
answered, with Question 1 achieving the lowest average marks. 
Generally, the lower order questions were extremely well answered throughout the 
question paper. The following graphs for questions 1 and 2 show this trend: 
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The Average % for lower order questions achieved is 57% (Q1) and 67,1%(Q2) 
respectively. 
This indicates that the learners know the concepts but struggled to answer the middle to 
higher order questions adequately. These questions where more deeper understanding 
of the processes was required posed a serious problem for the 2020 candidates.  
 
Candidates performed better in Climatology than Geomorphology. With the exception of 
tropical cyclones, all the climatology averages were above 40%. Geomorphology 
averages with the exception of question 1.2 (drainage basin concepts) achieved 40% 
and below.  
In settlement geography the learners scored higher marks than economic geography.  
Listing instead of fully explaining/discussing by the candidates was a major problem in 
this question paper. Questions such as 1.3.6, 1.4.4, 3.3.5, 3.5.4, 4.4.5, 4.4.6, where a 
phenomenon was supposed to be discussed/explained was poorly answered.  
 
Generally, the candidates failed to use the information/annexure provided to help them 
formulate responses. For example, in questions 1.5 & 1.6.5. (a & b), where some of the 
responses was in/on the extract/sketch, the learners scored below par.     
Contextual reading, especially to comprehend texts in a geographical context, is a big 
problem. Candidates tend to take sentences/phrases verbatim from the text as 
responses, which in the end have disadvantaged them.  
When specific geographical content/concepts are tested, the candidates generally score 
very low marks. For example, question 4.3 (urban sprawl), recorded the lowest 
averages (23.7%) in the entire paper.  
Spatial economic development of South Africa (Questions 3.6 & 4.5) was  
surprisingly poorly answered, although candidates were aware that the regions/SDI 
would be in the question paper. This was very disappointing as a possible 30 marks 
were lost.   
 
The graphs below indicate the general trends in the responses to Middle and 
Higher Order questions:  
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Candidates struggled in understanding and interpreting questions and thus failed to 
respond adequately. This was clearly evident in the responses to ‘explain’ and ‘discuss’ 
questions.     
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SECTION 2:  
Comment on candidates’ performance in individual questions 
(It is expected that a comment will be provided for each question on a separate 
sheet). 
 

QUESTION 1 

(a) General comment on the performance of learners in the specific question. 
Was the question well answered or poorly answered?   

 
Question 1, with the average of 54,9% was the lowest mark achieved in all four 
questions. The short objective question on drainage patterns (question 1.2) were 
surprisingly poorly answered. 
 
Candidates performed better in Climatology as compared to Geomorphology.  
The Questions on Mid-latitude cyclones (Q1.3) especially 1.3.2 (Ave 20%), 1.3.4 (Ave 
25%), 1.3.5 (Ave 22.5%) was extremely poorly answered.  

 

(b) Why was the question poorly answered? Also provide specific examples, 
indicate common errors committed by learners in this question, and any 
misconceptions. 

Question 1.2 (Drainage Patterns) 
These were short objective questions about the specific characteristics/understanding of 
the drainage patterns. The learners could not clearly differentiate between the different 
drainage patterns. Questions 1.2.1, 1.2.2 & 1.2.6 tested the specifics about the drainage 
pattern. It seems that learners guessed and did not understand the different processes 
of development of these drainage patterns. 
  
Question 1.3 (Mid  Latitude Cyclone)   
Again, the understanding of the different stages was lacking in the responses of the 
candidates. This year the examiners examined the mid latitude cyclone from its origin to 
the occlusion stage. Candidates failed to answer middle to higher order questions 
comprehensively.  
 
In question 1.3.2 (Ave-20%), candidates did not clearly indicate their understanding of 
the origin of the polar front. They understood how a front develops but could not clearly 
answer the origin of the polar front. 
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Candidates failed to identify the correct movement of mid latitude cyclones (question 
1.3.3 – Ave 40%). The location and movement of mid latitude cyclones was not properly 
taught to the learners.  
Learners misunderstood question 1,3,4 (Ave – 25%). They listed the weather conditions 
of a cold front, and the reasons for these weather conditions.  
Question 1.3.5 (Ave – 22,5%) tested the specific stage of development of mid latitude 
cyclones. It seemed that only the mature stage was understood by the learners and they 
scored very low marks here. They could not identify the occlusion stage and hence 
could not explain the formation of this stage.  
 
Question 1.4 (Line Thunderstorms)  
Generally, the learners answered this question adequately. There are however 
problems with the application questions.  
Question 1.4.3 tested the understanding of the relationship between the moisture front 
and line thunderstorms. Candidates should have answered comprehensively.  
The paragraph question 1.4.4, required candidates to explain the destructive nature of 
line thunderstorms. Here the learners lost marks for: 

• Listing the weather conditions and not explaining 

• Using the word thunderstorm instead of the specific weather conditions in their 
explanation.  

•  
Question 1.5 (Deltas) 
Although an extract was provided to help candidates understand and answer deltas, 
they generally failed to answer the questions properly. This is an indication that deltas 
as a fluvial feature and process was not taught during the year. In this question, most of 
the responses could be extracted from the information provided, including some 
responses to the paragraph question. 
Only question 1.5.1 (Ave – 30%) was very poorly answered. There is a general  
feeling among the markers that candidates could have scored more marks in this 
question if more teaching time was devoted to it during the year.  
 
Question 1.6 (River rejuvenation) 
Learners responded well to the lower and middle order questions of 1.6.1 to 1.6.4 (Ave 
– 58.1).  
The interpretation and application questions of 1.6.5 and 1.6.6 posed a serious 
challenge to the candidates. These were higher order questions, where the proper 
understanding of the process of rejuvenation was required. The candidates scored very 
low marks here (Ave – 35%, 30% and 32,5% respectively).  
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QUESTION 2 

(a) General comment on the performance of learners in the specific question. 
Was the question well answered or poorly answered?   

 
 
The lower order questions were well answered. (Ave – 71,2%). The middle to higher 
order questions were poorly answered. Application and Interpretation questions were a 
challenge to answer.   

 

(b) Why was the question poorly answered? Also provide specific examples, 
indicate common errors committed by learners in this question, and any 
misconceptions. 

Question 2.3 (Tropical cyclone) 
Generally this question was poorly answered. (Ave- 34,5%).  
The questions tested the candidates understanding of the general characteristics and 
weather conditions of tropical cyclones.  
Question 2.3.3 (Ave- 17,5) focused on the factors that ‘drive’ tropical cyclones. Learners 
could not answer this question although this is the initial aspect to be taught and 
understood by learners during teaching. If these factors are not taught properly, learners 
will struggle to understand the development stages, as well as the influence of tropical 
cyclones. This was evident in questions 2.3.4 (Ave- 27,5%) and 2.3.5 (Ave- 17,5%).  
 
Question 2.4 (Heat Island) 
The responses to question 2.4.1 (Ave-40%) was very disappointing as the definition of 
heat islands was given in the first sentence of the extract.  
The low marks achieved in questions 2.4.3 (Ave – 10%), is due to the fact that the 
learners could not differentiate between the heat island and the pollution dome. The 
responses to this question mainly related to the formation of the pollution dome and the 
heat island. The second lowest mark in the entire question paper was recorded here. 
The difference between a heat island (temperature) and pollution dome (smog, smoke, 
etc. in the air) must be highlighted and clearly tested so that learners do not get 
confused during the writing of examinations.  
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Question 2.5 (River Capture) 
The following concepts were not fully understood by the candidates and hence they 
scored very low marks in questions 2.5.3 (Ave- 35%), 2.5.4 (Ave- 17,5%) and 2.5.5 
(Ave- 35%)  

• Captor stream 

• Misfit Stream 

• Flow characteristics 
There seems to be a general understanding of river capture, but the application of the 
theory is lacking with a large portion of the candidates.  
They were confused between the misfit stream and captured stream. 
There is also confusion between the captor and captured stream.  
Question 2.5.5. dealt with the flow characteristics of the captor stream, although there is 
a general understanding of river capture, the learners struggled with the description flow 
characteristics.  
 
Question 2.6 (River Grading) 
The concept and process of river grading seemed to have been neglected during 
teaching and learning. The questions were not that difficult, but learners still struggled to 
answer adequately.  
The real problem however was with the paragraph question 2.6.4 (Ave-18.8%). In order 
to be able to answer this question, learners must first know what fluvial processes are. 
This was not the case and candidates really struggled to provide proper responses. This 
question has been tested on many occasions during Trial and Final examinations and 
learners still cannot respond properly to this question.   
 

 

QUESTION 3 

(a) General comment on the performance of learners in the specific question. 
Was the question well answered or poorly answered?   

 
 
The candidates performed the best in this question. Most topics had an average of 60% 
and above. It seemed that the learners could relate to the topics being examined in this 
question. This only emphasised the fact that if learners are practically exposed to  
content, they perform better because they can relate to it and also interpret what 
might/could happen.  
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(b) Why was the question poorly answered? Also provide specific examples, 
indicate common errors committed by learners in this question, and any 
misconceptions. 

Question 3.3.5 (Ave-27.5%) posed some challenges to the candidates. In this question 
the candidates listed social push or pull factors of rural depopulation, but had to explain 
these factors. This caused them to lose marks.  
 
The issue in the cartoon is not familiar to most rural candidates. In question 3.4.3, 
candidates were asked to unpack why traffic congestion is common in most cities. The 
marks reflect that learners, mostly rural could not relate to this outcomes based 
question. The urban issues are a problem for our rural learners and educators should be 
mindful of this.  
The candidates did fairly well in question 3.5, (Beef production in South Africa). The 
question is not common, and the candidates made effective use of the source provided. 
The paragraph question, however, was answered poorly. The learners could not link 
food security to beef production and therefore lost marks. An average of 38.8% was 
achieved for this question, which is well below the average of the question that had an 
average % of 58.8.  
 
Question 3.6 (Gauteng/PWV industrial region-Ave-45%) was very poorly answered, 
due to the fact that the learners simply did not study the information provided by 
educators. Learners were informed that this question would be in the exam paper as 
outlined in the examination guidelines. This was very disappointing, because the 
questions were not difficult at all. 
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QUESTION 4 

(a) General comment on the performance of learners in the specific question. Was 
the question well answered or poorly answered?   
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

The short objective questions (4.1 and 4.2) were well answered. Candidates responded 
well to questions around the informal sector (Question 4.6). 
Questions 4.3 (urban sprawl), 4.4 (Environmental issue) and 4.5 (SBIDZ) was not so 
well answered by the candidates.   

 

(b) Why was the question poorly answered? Also provide specific examples, 
indicate common errors committed by learners in this question, and any 
misconceptions. 

Question 4.3 (Urban Sprawl) 
This question (Ave-23.8%) was the lowest average mark achieved by candidates. This 
topic was clearly not taught during the year. Learners, even those who achieved good 
marks struggled to answer this question. Generally, candidates confused the topic of 
urban sprawl with urban expansion. In some scripts where candidates understood the 
process of urban sprawl, they achieved very good marks. This concept must be 
differentiated from urban expansion.  
 
The following are the averages for each question which underlines the difficulties 
candidates had in responding to these questions: 

➢ Question 4.3.1 – 20% 
➢ Question 4.3.2 – 30% 
➢ Question 4.3.3 – 22.5% 
➢ Question 4.3.4 – 22,5%  

 
Question 4.4 (Environmental injustice) 
Most candidates could identify the injustice, but struggled to answer Question 4.4.4 
(Ave-20%), where they were asked to say why they thought that the information in the 
photo was considered as an injustice. This underlined the fact that these issues were 
not adequately taught during the teaching and learning stage. Learners don’t even know 
the difference between justice and injustice.  
Question 4.4.6, where solutions to the injustice issue were required, candidates 
performed poorly. 
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Question 4.5 (SBIDZ)  
Again, like question 3.6, the learners knew that this IDZ would be tested in the 
examination. Learners didn’t use this information during teaching to study this Spatial 
Development Initiative. The marks scored were very low. In question 4.5.3 (Ave- 0%), 
nobody answered this question correctly. This indicates that the learners didn’t know the 
location of this IDZ. The answering of this question was extremely disappointing to say 
the least, after all the efforts made by various role players.  
Question 4.6 (Informal sector) 
Candidates answered this question adequately, except for question 4.6.5 (Ave-33.8%). 
There is no reason why question 4.6.5 could not have been answered better as this 
sector is part of our lives and our communities.  
In question 4.6.4, the question started with the word ‘According to the extract’. This does 
not mean that the information should be in the extract. It simply means that in the extract 
something is mentioned about the question and learners had to use their own 
knowledge to generate responses. Candidates were looking for answers in the extract 
and could not find them, hence they lost marks in this question.  

 

(c)  Provide suggestions for improvement in relation to Teaching and Learning. 

1. The use of field excursions, especially to make geographical concepts and 
processes more practical. This should be discussed with SGBs so that proper 
planning can be done, and finances made available. 

2. Candidates are limited in the ‘language of geography’ – A geographical glossary 
must be built up in pupils’ note books. The proper geographical wording must be 
encouraged during teaching and learning. AVOID CODE SWITCHING AT ALL 
COST. 

3. Educators must make assessment part of their daily planning. Assessment is not 
an event that must be given after every 1 or 2 weeks.  

4. Team teaching – Where geography clusters get together every fortnight to 
unpack the content and exchange teaching methodologies – In these clusters the 
CAPS and Examination guidelines must be the core sources of outlining the 
content.  

5. The more educators use symbolic skills,the better the learner’s visual skills 
become. This also improves the learners spatial understanding. Learners then 
learn the basic skill of drawing, which is a fundamental part of geography. The 
use of video/PowerPoint presentations is encouraged, but it MUST NOT 
REPLACE THE EDUCATOR IN THE CLASS. 

6. Educators by now should have all the Questions papers from 2014 to current 
stored on their laptops or filed. These question papers are also distributed by the 
province to use for revision. THESE MUST BE USED DURING EXTRA 
CLASSES AS PRACTICE QUESTIONS. 

7. Expose learners to understanding/contextualising the source first before 
attempting the questions. Learners should make a mind map of the source, that 
encourages them to use their own knowledge and experiences when answering 
questions. This technique is taught in languages when learners have to 
prepare/plan essays.   

8. Learners must be taught (only through continuous practice) to identify KEY 
word/concepts in questions before they formulate responses. 

9. Use more than one source when teaching content. This exposes the learners to 
reading texts/graph analysis/cartoon reading and interpretation/photo 
understanding/sketch interpretation. It also helps them to understand the   
practical reality of geography. This should be done as from Grade 10. 

10. Educators must be lifelong learners. Frequently ask questions, do research, 
move with the current times to understand the product (learners) and to be able 
to get the best out of learners.  
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(d) Describe any other specific observations relating to responses of learners 
and comments that are useful to teachers, subject advisors, teacher 
development etc. 

 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
The above graphs indicate the differences between the different content during the 
examination. 
This clearly show that Geomorphology is neglected or rushed during the year. It also 
shows that generally the learners answer SECTION B better that SECTION A.  
 
The use of action verbs during teaching and learning: these action verbs must be 
discussed and explained. A lesson specifically for these action verbs must be set aside. 
Learners struggled to discuss/explain in this question paper. 
 



2020 CHIEF MARKER’S REPORT 

The Extra classes that are arranged must be assessment driven – especially the use of 
past question papers. 
 
Use a differentiated approach when doing revision. – The learners must be grouped 
according to their knowledge levels. Specific times for specific groups must also be 
worked out. These groups can be headed by a knowledgeable learner and encouraged 
to discuss work amongst them.  
 
Educators must outline the following concepts and teach them: 

❖ Economic point of view 
❖ Social point of view 
❖ Environmental point of view 
❖ Scio-economic point of view 
❖ Justice and injustice  
❖ Sustainability 
❖ What is weather?  

 
Do not neglect content. In this question paper it was obvious that content/process like 
Deltas, Urban models and Urban sprawl were not properly taught or neglected. Learners 
really struggled to answer these questions.  
 
The study of Economic Regions/Industrial regions must be outlined as follows: 

➢ Use a map to indicate location of the places 
➢ Specifically discuss advantages and disadvantages of the location in South Africa 
➢ What major activities, especially light and heavy industries are being 

manufactured in the region 
➢ What are the advantages/disadvantages (Therefore its impact) to: 

✓ The local community 
✓ The Province 
✓ The country 

 
IT IS IMPORTANT TO NOTE THAT GEOGRAPHY WILL BE DIFFERENTLY 
EXAMINED ACCORDING TO THE ABRIDGED CAPS. 
 
Paper 1 – Physical Geography Theory (120 marks) 
                Physical Geography Map work (30 marks) 
                Total = 150 
 
Paper 2 – Settlement & Economic Geography Theory (120 marks) 
                 Settlement & Economic Geography Map Work (30 Marks) 
                 Total = 150 
 
PLEASE LOOK OUT FOR THE EXEMPLARS IN ALL FET GRADES. THERE WILL 
ALSO BE NEW EXAMINATION GUIDELINES FOR ALL GRADES. 
 
LET’S HOPE THAT THIS NEW FORMAT OF EXAMANING WILL BENEFIT OUR 
LEARNERS.  
 
THE LEARNERS CAN ONLY PERFORM TO THE OPTIMUM IF WE AS EDUCATORS 
ARE PREPARED AND GIVE OUR VERY BEST.  

 

These words must also be 
used in combination to 
make learners aware of 
their collective approach. 
E.G. Economic justice 
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INSTRUCTIONS AND INFORMATION 
 
1. 
 
2. 
 
3. 
 
4. 
 
5. 
 
6. 
 
 
7. 
 
8. 
 
9. 
 
 
10. 
 
 
11. 
 
12. 
 
 
 

This question paper consists of FOUR questions. 
 
Answer ANY THREE questions of 75 marks each. 
 
All diagrams are included in the ANNEXURE. 
 
Leave a line between the subsections of questions answered. 
 
Start EACH question at the top of a NEW page. 
 
Number the answers correctly according to the numbering system used in this 
question paper.  
 
Do NOT write in the margins of the ANSWER BOOK. 
 
Draw fully labelled diagrams when instructed to do so. 
 
Answer in FULL SENTENCES, except when you have to state, name, identify 
or list. 
 
Indicate the unit of measurement or compass direction when quoting figures or 
values in your answer, e.g. 45 m, 1 020 hPa, 14 °C and north (N). 
 
Use full sentences when answering paragraph-type questions. 
 
Write neatly and legibly. 
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SECTION A:  CLIMATE, WEATHER AND GEOMORPHOLOGY 
 
QUESTION 1 
 
1.1 Refer to FIGURE 1.1 showing air movement associated with valley climates. 

Match the descriptions below with winds A and B. Write only the letter A or B 
next to the question numbers (1.1.1 to 1.1.7) in the ANSWER BOOK, e.g.  
1.1.8 B. 

  

    
 1.1.1 The air movement associated with upslope flow    
     
 1.1.2 Air movement that occurs at the night    
     
 1.1.3 Air movement that originates due to the rate of insolation   
     
 1.1.4 Air movement that mostly reduces air pollution at the bottom of the 

valley  
  

     
 1.1.5 Air movement associated with dense, heavy air    
     
 1.1.6 Air movement associated with the formation of frost on the valley 

floor  
  

     
 1.1.7 The direction of air movement determined by gravitational forces  

 (7 x 1) 
  

(7) 
 
1.2 Choose a term from COLUMN B that matches the characteristic/description in 

COLUMN A. Write only the letter (A–I) next to the question numbers  
(1.2.1 to 1.2.8) in the ANSWER BOOK, e.g. 1.2.9  J. 

  

    
COLUMN A COLUMN B   

1.2.1 
 
 
1.2.2 
 
 
1.2.3 
 
 
1.2.4 
 
 
1.2.5 
 
 
1.2.6 
 
 
1.2.7 
 
 
1.2.8 

Drainage pattern that is common along 
steep slopes of ridge or hills  
 
Drainage pattern found in areas where 
glaciers have occurred 
 
The main stream has right angle bends in 
this drainage pattern 
 
Drainage pattern associated with streams 
that flow towards a central low-lying area 
 
Drainage pattern associated with a dome 
feature 
 
Drainage pattern that originates in areas 
with alternative layers of hard and soft rock 
 
Drainage pattern that is usually uniform 
and tributaries join at acute angles 
 
The river is younger than the underlying 
rock structure over which it flows 

A 
 
B 
 
C 
 
D 
 
E 
 
F 
 
G 
 
H 
 
I 
 

trellis 
 
dendritic 
 
radial 
 
rectangular 
 
deranged 
 
antecedent 
 
centripetal 
 
superimposed 
 
parallel 
 
 
 
 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

   (8 x 1)  (8) 
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1.3 FIGURE 1.3 shows a mid-latitude cyclone on a synoptic weather map of 

Southern Africa.  
    
 1.3.1 Give evidence from the diagram that suggests that weather  

system A is a mid-latitude cyclone. (1 x 1) 
  

(1) 
     
 1.3.2 Why does this weather system originate at the polar front? (1 x 2)  (2) 
     
 1.3.3 Give a reason for the direction of movement of this weather system.  

                                                                                                   (1 x 2) 
  

(2) 
     
 1.3.4 Why is the cold front associated with severe weather conditions?   

                                                                                                   (1 x 2) 
  

(2) 
     
 1.3.5 Explain the formation of the stage of development shown in  

FIGURE 1.3 of the mid-latitude cyclone.  
  

(4) 
     
 
 

1.3.6 Why does the cold front of the mid-latitude cyclone have a positive 
impact on agricultural activities in the Western Cape? (2 x 2) 

  
(4) 

 
1.4 FIGURE 1.4 shows the presence of a line thunderstorm across South Africa.   
     
 1.4.1 Does the line thunderstorm obtain its source of moisture from ocean 

A or B?                           (1 x 1) 
  

(1) 
     
 1.4.2 Why is cold, dry air fed in from the South Atlantic High-Pressure 

Cell?                                                                           (1 x 2) 
  

(2) 
     
 1.4.3 Explain how the formation of the moisture front at C results in line 

thunderstorms. (2 x 2) 
  

(4) 
     
 1.4.4 In a paragraph of approximately EIGHT lines, explain the destructive 

(harmful) nature of line thunderstorms. (4 x 2) 
  

(8) 
     
1.5 FIGURE 1.5 is an extract on deltas.   
    
 1.5.1 Where do deltas form? (1 x 1)  (1) 
     
 1.5.2 What evidence in the extract indicates that deltas are densely 

populated? (1 x 1) 
  

(1) 
     
 1.5.3 According to the extract, how are cities disturbing the natural 

formation of deltas?  (1 x 1) 
  

(1) 
     
 1.5.4 Discuss the importance of protecting deltas. (2 x 2)  (4) 
     
 1.5.5 A recent environmental impact assessment has highlighted 

concerns about the future sustainability of deltas. In a paragraph of 
approximately EIGHT lines, suggest strategies to protect areas like 
deltas from the negative impact of human activities.               (4 x 2) 

  
 
 
(8) 
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1.6 Refer to FIGURE 1.6 showing river rejuvenation.   
 
 1.6.1 What is river rejuvenation? (1 x 1)  (1) 
     
 1.6.2 Which stage (course) of the river is illustrated in FIGURE 1.6? 

(1 x 1) 
  

(1) 
     
 1.6.3 Give evidence from FIGURE 1.6 to support your answer to 

QUESTION 1.6.2.                                                 (1 x 1) 
  

(1) 
     
 1.6.4 Why is there an increase in the rate of erosion in the river after 

rejuvenation?                                                                (2 x 2) 
 

(4) 
     
 1.6.5 Identify the changes to the following features after river rejuvenation 

took place: 
 

 
     
  (a) River channel (1 x 2)  (2) 
      
  (b) Meander (1 x 2)  (2) 
     
 1.6.6 Discuss the possible negative impact of river rejuvenation on 

storage dams in the lower course after the point of rejuvenation 
(knickpoint). (2 x 2) 

 

(4) 
    [75] 
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QUESTION 2  
 
2.1 Refer to FIGURE 2.1 showing a high pressure and low pressure cell in the 

Southern Hemisphere. Match the statements below with the high pressure 
cell or low pressure cell. Write down your answer next to the question 
numbers (2.1.1 to 2.1.8) in the ANSWER BOOK, e.g. 2.1.9 low-pressure cell. 

  

    
 2.1.1 Associated with rising air   
     
 2.1.2 Air diverges on the surface from this pressure cell   
     
 2.1.3 Associated with the clockwise movement of air   
     
 2.1.4 Unstable weather conditions over the interior   
     
 2.1.5 Associated with ridging    
     
 2.1.6 Associated with heavy rain and hail   
     
 2.1.7 Dominates the land in winter   
     
 2.1.8 Berg wind conditions develop when it interacts with a coastal low  

 (8 x 1) 
  

(8) 
    
2.2 Choose a concept/term from COLUMN B that matches the description  

in COLUMN A. Write only the letter (A–H) next to the question numbers  
(2.2.1 to 2.2.7) in the ANSWER BOOK, e.g. 2.2.8  I. 

  

 
COLUMN A COLUMN B   

2.2.1 
 
 
2.2.2 
 
 
2.2.3 
 
2.2.4 
 
 
2.2.5 
 
2.2.6 
 
 
2.2.7 

Area drained by a river and its 
tributaries 
 
High-lying area that separates two 
different drainage basins 
 
Starting point of a river  
 
Term that describes the main river 
and its tributaries 
 
Point where the river enters the sea 
 
Elevated land that separates 
streams in the same drainage basin 
 
Point along the river where two or 
more streams meet 

A 
 
B 
 
C 
 
D 
 
E 
 
F 
 
G 
 
H 
 

catchment area 
 
interfluve 
 
confluence 
 
drainage basin 
 
river system 
 
watershed 
 
river source 
 
river mouth 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

   (7 x 1)  (7) 
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2.3 Refer to FIGURE 2.3, which shows the path of a tropical cyclone.   
 
 2.3.1 Give evidence that this tropical cyclone is in the Southern 

Hemisphere. (1 x 1) 
  

(1) 
     
 2.3.2 Why is the Mozambique Channel usually ideal for the increase in 

temperature within the tropical cyclone? (1 x 2) 
  

(2) 
     
 2.3.3 Explain how the intensity of the tropical cyclone increased as it 

moved from area A to area B. (2 x 2) 
  

(4) 
     
 2.3.4 Discuss the conditions that could have caused the cyclone to 

weaken as it reached area C. (2 x 2) 
  

(4) 
     
 2.3.5 Evaluate the physical (natural) negative impact of tropical cyclones 

along the coastline of Mozambique. (2 x 2) 
  

(4) 
 
2.4 Refer to FIGURE 2.4, an extract based on urban heat islands.  
 
 2.4.1 Define the concept urban heat island.       (1 x 1)  (1) 
     
 2.4.2 Give TWO quotations from the extract that suggests that poor 

planning is responsible for increasing temperatures in cities. (2 x 1) 
  

(2) 
     
 2.4.3 Why is the urban heat island effect more concentrated at night?  

                                                                                                  (2 x 2) 
 

(4) 
     
 2.4.4 In a paragraph of approximately EIGHT lines, provide sustainable 

green strategies, as referred to in the extract, that can reduce the 
heat island effect.  (4 x 2) 

  
 
(8) 

 
2.5 Refer to FIGURE 2.5, which shows river capture (stream piracy).   
     
 2.5.1 Define the concept river capture as shown in sketch B.       (1 x 1)  (1) 
     
 2.5.2 Identify features 1 and 2 of river capture in sketch B. (2 x 1)  (2) 
     
 2.5.3 What could have caused the captor stream to erode through the 

watershed? (2 x 1) 
 

(2) 
     
 2.5.4 Explain the process that resulted in the formation of the misfit 

stream. (2 x 2) 
 

(4) 
     
 2.5.5 Describe the change in the flow characteristics of the captor stream.  

                                                                                                  (3 x 2) 
 

(6) 
 
2.6 FIGURE 2.6 shows a river profile.   
 
 2.6.1 Is the river profile in FIGURE 2.6 graded or ungraded? (1 x 1)  (1) 
     
 2.6.2 Give evidence for your answer to QUESTION 2.6.1. (1 x 2)  (2) 
     
 2.6.3 Why will there be more erosion than deposition at A?  (2 x 2)  (4) 
     
 2.6.4 In a paragraph of approximately EIGHT lines, explain the fluvial 

processes that a river undergoes to reach a graded profile.    (4 x 2) 
  

(8) 
    [75]   
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SECTION B: RURAL AND URBAN SETTLEMENTS AND SOUTH AFRICAN 
 ECONOMIC GEOGRAPHY 
 
QUESTION 3 
 
3.1 Refer to FIGURE 3.1 showing models of urban structure. Choose the correct 

answer from the options given in brackets to make the statement TRUE. Write 
only your answer next the question numbers (3.1.1 to 3.1.7) in the ANSWER 
BOOK, e.g. 3.1.8 concentric zone. 

  

     
 3.1.1 The model which shows land use arranged in wedges is known as 

the (multiple nuclei/sector) model.   
 

 
     
 3.1.2 In the (multiple nuclei/concentric zone) model the CBD is the focal 

point around which the urban area develops.  
 

 
     
 3.1.3 Industries and low-cost housing develop along main roads or 

railways in the (concentric zone/sector) model. 
 

 
     
 3.1.4 The (sector/multiple nuclei) model is most applicable to modern 

cities. 
 

 
     
 3.1.5 The (sector/concentric zone) model does not consider development 

along transport routes. 
 

 
     
 3.1.6 Cities that have several focal points around which urban 

development occurs are examples of the (concentric zone/multiple 
nuclei) model. 

 

 
     
 3.1.7 The (sector/multiple nuclei) model displays characteristics of the 

concentric zone model. (7 x 1) 
 

(7) 
 
3.2 Various options are provided as possible answers to the following statements. 

Choose the answer and write only the letter (A–D) next to the question 
numbers (3.2.1 to 3.2.8) in the ANSWER BOOK, e.g. 3.2.9 D. 

  

 
 3.2.1 The economic sector associated with the provision of transport is 

referred to as the … sector. 
  

     
  A 

B 
C 
D 

primary 
secondary 
tertiary 
quaternary 

  

 
 3.2.2 The total value of all goods and services produced in one year 

within a country is called the … 
  

     
  A 

B 
C 
D 

per capita income. 
gross domestic product. 
gross national product. 
gross domestic income. 
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 3.2.3 An example of an economic activity concerned with the extraction of 

raw material is ... 
  

     
  A 

B 
C 
D 

transport. 
construction. 
mining. 
research. 

  

 
 3.2.4 An exchange of goods and services between countries is referred  

to as … 
  

     
  A 

B 
C 
D 

international trade. 
domestic trade. 
foreign exchange. 
trade balance. 

  

 
 3.2.5 … refers to goods that are brought into the country.   
     
  A 

B 
C 
D 

Exports 
Imports 
Market 
Trade 

  

 
 3.2.6 The domestic market is also known as the … market.   
     
  A 

B 
C 
D 

regional 
foreign   
provincial  
home  

  

 
 3.2.7 Income generated by a country through exports refers to …   
     
  A 

B 
C 
D 

per capita income. 
foreign exchange. 
export-orientated industries. 
export market. 

  

 
 3.2.8 An example of a quaternary economic activity is …   
     
  A 

B 
C 
D 

fishing. 
ship building. 
service provision. 
research. (8 x 1) 

  
 
 
(8) 
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3.3 Refer to FIGURE 3.3, a graph on rural depopulation.   
 
 3.3.1 Define the concept rural depopulation. (1 x 1)  (1) 
     
 3.3.2 Determine the number of people living in the rural areas of  

South Africa in 2004.  (1 x 1) 
  

(1) 
     
 3.3.3 Is the rural population showing an increase or a decrease from 2004 

to 2020? (1 x 1) 
  

(1) 
     
 3.3.4 How will this trend (the answer to QUESTION 3.3.3) have a negative 

impact on the standard of living of the rural population?          (2 x 2)  
  

(4) 
     
 3.3.5 Explain TWO social factors that contributed to rural depopulation in 

South Africa. (2 x 2) 
  

(4) 
     
 3.3.6 Suggest TWO sustainable strategies to encourage people to return 

to rural areas. (2 x 2) 
  

(4) 
 
3.4 Refer to FIGURE 3.4, a cartoon based on an urban issue related to rapid 

urbanisation. 
  

 
 3.4.1 Identify the urban issue shown in the cartoon. (1 x 1)  (1) 
     
 3.4.2 Give a reason for your answer to QUESTION 3.4.1. (1 x 2)  (2) 
     
 3.4.3 Why is the urban issue in the cartoon common in most cities? (2 x 2)  (4) 
     
 3.4.4 In a paragraph of approximately EIGHT lines, discuss the negative 

impact of this urban issue on motorists. (4 x 2) 
  

(8) 
 
3.5 Refer to the extract in FIGURE 3.5 based on cattle farming in South Africa.   
 
 3.5.1 Identify ONE problem from the extract that poses a challenge to 

cattle farmers. (1 x 1) 
  

(1) 
     
 3.5.2 Why, according to the extract, is the Bonsmara breed ideal for cattle 

farming? (2 x 1) 
  

(2) 
     
 3.5.3 Suggest TWO ways in which the government can assist small-scale 

cattle farmers to increase beef production. (2 x 2) 
  

(4) 
     
 3.5.4 In a paragraph of approximately EIGHT lines, discuss how an 

increase in beef production can contribute to food security in  
South Africa. (4 x 2) 

  
 
(8) 
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3.6 Refer to FIGURE 3.6 and study the information on the PWV (Gauteng) 

Industrial Region. 
  

 
 3.6.1 Which of the urban settlements in the PWV (Gauteng) Industrial 

Region shown in FIGURE 3.6 started out as a gold mining 
settlement?                  (1 x 1) 

  
 
(1) 

     
 3.6.2 Quote TWO statistics from FIGURE 3.6, which indicates that the 

PWV (Gauteng) Industrial Region is the economic heartland of 
South Africa. (2 x 1) 

  
 
(2) 

     
 3.6.3 Discuss TWO factors that have favoured the development of 

industries in the PWV (Gauteng) Industrial Region.           (2 x 2) 
  

(4) 
     
 3.6.4 The PWV (Gauteng) Industrial Region faces many challenges, 

including high levels of unemployment and water shortages. 
  

     
  (a) Why has water supply hindered the development of the PWV 

(Gauteng) Industrial Region? (1 x 2) 
  

(2) 
      
  (b) How did the PWV (Gauteng) Industrial Region overcome the 

shortage of water supply for industries? (1 x 2) 
  

(2) 
      
  (c) Why does the PWV (Gauteng) Industrial Region face 

challenges of unemployment despite the high concentration of 
industries in this industrial region?                    (2 x 2) 

  
 
(4) 

    [75] 
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QUESTION 4 
 
4.1 Refer to FIGURE 4.1 showing rural settlement patterns and shapes. Choose 

the correct answer from the options given in brackets to make the statement 
TRUE. Write only your answer next the question numbers (4.1.1 to 4.1.8) in 
the ANSWER BOOK, e.g. 4.1.9 dispersed.  

 

     
 4.1.1 A (dispersed/nucleated) settlement pattern is associated with large 

machinery. 
  

     
 4.1.2 The settlement pattern that encourages more community activities is 

(nucleated/dispersed). 
  

     
 4.1.3 The lack of safety and an increased vulnerability to crime is more 

predominant in (nucleated/dispersed) settlement patterns. 
  

     
 4.1.4 (Nucleated/Dispersed) settlement patterns are commonly associated 

with privately owned land. 
  

     
 4.1.5 The settlement that develops at the intersection of transport routes 

has as a (linear/crossroads) shape. 
  

     
 4.1.6 (Circular/Linear) shaped settlements develop around a focal point.   
     
 4.1.7 A (circular/linear) shaped settlement forms along transport routes.   
     
 4.1.8 The settlement shape responsible for the greatest accessibility is a 

(linear/crossroads) settlement.      (8 x 1) 
  

(8) 
 
4.2 Various options are provided as possible answers to the following statements. 

Choose the answer and write only the letter (A–D) next to the question 
numbers (4.2.1 to 4.2.7) in the ANSWER BOOK, e.g. 4.2.8  D. 

  

 
 4.2.1 ... is the staple food of many people in South Africa.   
     
  A 

B 
C 
D 

Fruit 
Maize 
Wheat 
Beef 

  

 
 4.2.2 Agricultural activities are associated with the ... economic sector.   
     
  A 

B 
C 
D 

quaternary 
secondary 
tertiary 
primary 
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 4.2.3 … is when people in a country have access to enough nutritious 

food. 
  

     
  A 

B 
C 
D 

Food insecurity 
Malnutrition 
Famine 
Food security 

  

 
 4.2.4 An advantage of genetically modified (GM) crops is that they ...   
     
  A 

B 
C 
D 

have less nutritional value. 
produce more food per hectare. 
have a shorter storage life. 
are less expensive. 

  

 
 4.2.5 Monoculture is a characteristic of ... farming.   
     
  A 

B 
C 
D 

small-scale  
traditional  
large-scale  
subsistence 

  

 
 4.2.6 Sugar cane farming is mainly practised in ...   
     
  A 

B 
C 
D 

the Eastern Cape. 
the Western Cape. 
KwaZulu-Natal. 
North West. 

  

 
 4.2.7 ... are factors that favour agricultural production in South Africa.   
     
  A 

B 
C 
D 

Floods and climate change 
Research and climatic differences  
Crime and labour strikes 
Fluctuating prices and subsistence farming (7 x 1) 

  
 
 
(7) 

 
4.3 FIGURE 4.3 shows urban sprawl.   
    
 4.3.1 Define the concept urban sprawl. (1 x 1)  (1) 
     
 4.3.2 Give evidence from FIGURE 4.3 that suggests that urban sprawl is 

taking place.                                                (1 x 2) 
  

(2) 
     
 4.3.3 Why do local authorities find it difficult to control urban sprawl? (2 x 2)  (4) 
     
 4.3.4 In a paragraph of approximately EIGHT lines, discuss the 

unfavourable environmental conditions caused by urban sprawl in 
the rural-urban fringe.                                                (4 x 2) 

  
 
(8) 
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4.4 Refer to FIGURE 4.4 based on an urban environmental justice issue.  
 
 4.4.1 Define the concept environmental injustice. (1 x 1)  (1) 
     
 4.4.2 State the environmental injustice evident in FIGURE 4.4. (1 x 1)  (1) 
     
 4.4.3 Give evidence from the photograph to support your answer to 

QUESTION 4.4.2. (1 x 1) 
 

(1) 
     
 4.4.4 Why is your answer to QUESTION 4.4.2 considered an 

environmental injustice? (2 x 2) 
  

(4) 
  a   
 4.4.5 Discuss how this environmental injustice will affect the local 

community. (2 x 2) 
  

(4) 
     
 4.4.6 Explain how local authorities can develop sustainable solutions to 

reduce the impact of this injustice issue on the environment. (2 x 2) 
  

(4) 
 
4.5 FIGURE 4.5 is based on strategies for industrial development: the Saldanha 

Bay Industrial Development Zone (SBIDZ). 
  

    
 4.5.1 Name the new local investor in Saldanha Bay. (1 x 1)  (1) 
     
 4.5.2 What will be the core function of the new investor in the Saldanha 

Bay IDZ? (1 x 1) 
  

(1) 
     
 4.5.3 State the physical (natural) factor that could have attracted the new 

investor to the Saldanha Bay IDZ. (1 x 1) 
  

(1) 
     
 4.5.4 Discuss how the new investment project in the Saldanha Bay IDZ 

would have a positive impact on transport infrastructure in the zone.  
                                                                                                   (2 x 2) 

  
 
(4) 

     
 4.5.5 How will investments in the Saldanha Bay IDZ have an impact on 

the people seeking employment in this zone? (2 x 2) 
  

(4) 
     
 4.5.6 Suggest what social responsibility initiatives a new investment 

company should have towards the local community.  (2 x 2) 
  

(4) 
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4.6 Refer to FIGURE 4.6 based on the informal sector.   
 
 4.6.1 What example of informal trade, according to the extract, is shown in 

FIGURE 4.6? (1 x 1) 
  

(1) 
     
 4.6.2 How many people in South Africa are involved in the informal retail 

sector?  (1 x 1) 
  

(1) 
     
 4.6.3 Quote evidence from the extract to suggest that the informal sector 

is a much easier option to gain employment. (1 x 1) 
 

(1) 
     
 4.6.4 According to the extract, why are so many women employed in the 

informal sector? (2 x 2) 
 

(4) 
     
 4.6.5 In a paragraph of approximately EIGHT lines, discuss the positive 

impact that the informal sector has on the economy of South Africa. 
 (4 x 2) 

 

(8) 
    [75] 
     

TOTAL:  225 
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FIGURE 1.1: VALLEY CLIMATES 
 

 
                                                                                                        [Examiner's own sketch] 
 
FIGURE 1.3: MID-LATITUDE CYCLONE 
 

 
  [Source: South African Weather Bureau] 
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FIGURE 1.4: LINE THUNDERSTORM 
 

 
                                                                                                                       [Source: Examiner's sketch] 
 
FIGURE 1.5: DELTAS 
 

DELTAS ARE SINKING 
 
The world's river deltas take up less than 0,5% of the Earth's land area, but they are 
home to hundreds of millions of people. With fertile soils and easy access to the coast, 
deltas are important areas for food production. They also have unique ecosystems. Now 
many of the world's deltas are facing a crisis. Sea levels are rising as a result of climate 
change, while deltas are sinking. 
 
As sediments in deltas compact under their own weight, deltas naturally sink. If left 
undisturbed, new river sediment can accumulate and help to maintain the delta surface 
above sea level. 
 
But deltas are now subsiding much faster than they would do naturally. That's due to 
groundwater being pumped from aquifers (permeable rock) underneath them and used to 
irrigate crops and provide water for rapidly growing cities. Under these conditions, only 
the continued deposition of sediment on deltas can keep them from 'drowning'. 
 
Difficult decisions need to be made about development priorities between countries 
upstream of deltas and those including the deltas themselves. There will be trade-offs to 
be made between hydropower, agricultural practices and delta sustainability. 

 
[Source: https://www.asiatimes.com/2019/11/article/river-delta-changes-threaten-hundreds-of-millions/] 
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FIGURE 1.6: RIVER REJUVENATION 
 

 
                                                                                    [Adapted from http://navneetsingh00215.blogspot.in] 
 
 
FIGURE 2.1:  HIGH- AND LOW-PRESSURE CELLS IN THE SOUTHERN HEMISPHERE 
 

 
 [Source: Examiner's own sketch]  
 
 
 
  

HIGH-PRESSURE CELL LOW-PRESSURE CELL 

SEA SEA 

BEFORE AFTER 
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FIGURE 2.3:  TROPICAL CYCLONE 
 
 

 
  [Source: Meteo France] 
 
FIGURE 2.4: URBAN HEAT ISLANDS 
 

CITY DWELLERS ARE BEARING THE BRUNT OF EXTREME TEMPERATURES 
 
Thanks to a phenomenon that makes urban areas hotter than their surroundings, cities 
such as Pretoria are as much as 6 °C hotter than they could be.  
 
The heat comes from decades of poor planning. Since the 1950s, the global focus of city 
infrastructure planning has been on cars and on getting as many people as possible into 
tall buildings (skyscrapers).  
 
In South Africa's six big cities, this means tarred roads crisscrossing what used to be 
fields, big cement slabs providing parking for the cars, high-rise apartments and office 
blocks overcrowding their occupants. This both creates and traps heat, which leads to an 
urban heat island. This effect is worse at night, with cities storing heat. 
 
The World Health Organisation (WHO) says urban heat islands, which both raise 
temperatures and trap pollutants, will have to disappear in this century if future 
generations are to live healthy lives in cities. A possible way of addressing the issue of 
heat islands is introducing 'green' strategies. Green strategies are sustainable and do not 
harm the environment. 
 

[Adapted from https://mg.co.za/article/2016-01-16-beyond-the-inferno-how-sa-cities-must-green] 
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FIGURE 2.5:  RIVER CAPTURE (STREAM PIRACY) 
 

    
 [Adapted from https://revision.co.ke/marking-schemes/kcse-cluster-tests-3/geography]   

 
 
FIGURE 2.6:  RIVER PROFILE 
 

 
[Adapted from https://www.google.com/search?q=photograph+of+an+ungraded+river+profile] 
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FIGURE 3.1:  MODELS OF URBAN STRUCTURE 
 

   
                               [Adapted from Davies 1981, https://geographycasestudysite] 
                                                                                       
 
FIGURE 3.3:  RURAL DEPOPULATION 
 

 
                                                                                                                 [Source: Examiner's graph] 

MULTIPLE NUCLEI MODEL 
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FIGURE 3.4:  URBAN ISSUE RELATED TO RAPID URBANISATION 
 

 [Adapted from http://cartoonsbymiles.blogspot.com/2014/06/mixed-bag.html] 
 
 
FIGURE 3.5:  CATTLE FARMING IN SOUTH AFRICA 
 

 
 
 
 
  

TOUGH TIMES NEED TOUGHER CATTLE 
 
With the ongoing drought and foot-and-
mouth disease outbreaks in South Africa, 
choosing the right cattle breed for 
production and breeding has never been 
more crucial. With its adaptability and 
high functional efficiency, Bonsmara 
cattle has proved itself the ideal breed to 
cope with, and thrive in, these challenging 
conditions. 
 
The Bonsmara, bred for Africa's harshest conditions, has shown that it can adapt to the 
changing climate, reduced rainfall and warmer temperatures. The Bonsmara cow is 
capable of walking long distances to find grazing. The breed also adapts in both extensive 
and intensive agricultural environments. 
 

[Source: https://www.farmersweekly.co.za/animals/cattle/tough-times-need-tougher-cattle/] 
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FIGURE 3.6: PWV (GAUTENG) INDUSTRIAL REGION 
 

 
 
FIGURE 4.1:  RURAL SETTLEMENT PATTERNS AND SHAPES 
 

 
 [Adapted from https://www.studyadda.com/current-affairs/human-settlements] 

  

The PWV (Gauteng) Industrial 
Region is an integrated cluster of 
cities, towns and urban nodes that 
together make up the economic 
heartland of South Africa. 
 
This region is the country's centre of 
trade within Southern Africa and 
beyond. PWV (Gauteng) produces 
more than 33,8% of the national GDP 
in current prices. PWV (Gauteng) is 
estimated to contribute about 45% of 
South Africa's total economic output. 
 
Despite its importance, the PWV 
(Gauteng) region faces many 
challenges, such as water shortages 
and high levels of unemployment.  
 
 

 [Adapted from https://www.gcro.ac.za/about/the-gauteng-city-region/] 

CROSSROADS 
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FIGURE 4.3:  URBAN SPRAWL 
 

 
 [Adapted from https://theurbanweb.wordpress.com/finger-plan-in-copenhagen-urban-sprawl] 

 
 
FIGURE 4.4:  URBAN ENVIRONMENTAL JUSTICE ISSUE 
 

 
[Adapted from https://pulitzercenter.org/reporting/south-africas-future-without-coal] 
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FIGURE 4.5:  STRATEGIES FOR INDUSTRIAL DEVELOPMENT: THE SALDANHA 
 BAY INDUSTRIAL DEVELOPMENT ZONE (SBIDZ) 
 

NEW INVESTMENT IN THE SALDANHA BAY  
INDUSTRIAL DEVELOPMENT ZONE(SBIDZ) 

 

               
 

The West Coast Corrosion Protection (WCCP) will nearly double their workforce as they 
position themselves to grow their already established business with the support of the 
SBIDZ fund. 
 
As a small, local company in the corrosion protection and support services industry, the 
WCCP services a range of marine vessels in a number of ports across South Africa. Their 
new facility will provide a necessary base to expand their value and service offering to the 
maritime industry. It will open doors to new markets and customers. 
 
The SBIDZ has, to date, signed 11 lease agreements with an investment value of over  
R3 billion. The development of the SBIDZ is key to unlocking the industrial potential of the 
West Coast, and Saldanha in particular. 
 
Skills programmes initiated in the SBIDZ that focus on enterprise and contractor 
development have created a total of 2 199 individual training opportunities with 88% of 
participants having already graduated. Together with this, the local community benefits 
from social responsibility initiatives. 
 

[Source: www.sbidz.co.za, https://www.sa-venues.com/maps/westerncape/saldanha.php] 
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FIGURE 4.6:  INFORMAL SECTOR 
 

Informal trade is dominated by women in most 
countries. 

South Africa's informal retail sector is made up of 
around 750 000 informal micro-retailers (mostly 
women) operating from home ('spaza' shops) 
and street vendors. They generate a total 
revenue of R31,8 billion per year.  

Providing support to the informal sector could 
help South Africa relieve some of its 
unemployment pressures. There are few barriers 
to entering the informal sector. It provides in 
many of the local community's basic needs.  
 
 

 [Source: iol.co.za]    [Adapted from Citizenmatters-post-covid-16671]a 
 

 

 

   




















































